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SeconDp Mip Term TEST - 20623

Ter AN TAVYR.
11- std MATHEMATICS (24)
Time : 1.30 Hrs ' Marks : 45
I. Choose the correct answer: 10x1=10
1. If A is a square matrix, then which of the following is not symmetric?
a) A+ AT b) AAT c) ATA d)A - AT
1 a a G e e £ 1 G
. IfA:{o J'thenm: a) o o B el 9o a1
: 3 -2
3. IfFA+I= [4 1 } then (A+I) (A-I) is equal to
-5 -41. -5 4 54'| 3 -5 -4
2) 2 = B) | g 9 g 9] )-8 -9
4, If BK=3f+23'+i2 and the position vector of B is f+33—l2 then the position
vector A is a) 4i+2j+k b) 4i+5j c) 4i d) -4
5. If a and b are two vectors of magnitude 2 and inclined at an angle 60°, then
the angle between a and a+b is a) 30°, b) 60° .c) 45° . .d) 90°
6. a=3i+4j and b=i+j+k , then the value of ax'bl =
a) V14 b) 5 Q)0 d) V26
7. 1f (1,2,4) and (2,3d,-3) are the initial and terminal points of the vector i+53~—7f<,
-7 -5 5
then the value of d is equal to a) 3 b) 3 c) 35 d) 3

104

I a= i+ +k,b=2+xj+k, ¢=i+ j+kand @ (

1 1 1 1
g 7,1, + 2k is a unitvector, then the value of Ais a) 5 b) ZC) ~9- d) -2-
) 70, then x is equal

£O vverernrieas La)s b) 7 c) 26 d) 10
If the points (x, -2), (2, 5), (8, 8) are coollinear then the x is equal to

1 .
a) -3 b) 3 c) 1l d) 3

II. Answer 3 questions. Qn.No. 16 is compulsoryi ' 3%2=6

i

0O 0 -2
<150 e

is skew - symmetric.
-3 0

P. s ﬁRF}\fﬁN‘QN
12) ¥ lé +‘E" - ‘5‘b| then prove that a and b are perpendicular, P tn. Aseis

Fajiaind 1TOT cgjgyw ng”mr Pl i g
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For what value of x, the matrix A =

13) Prove that vector product is not commutative.

cos@ sind
14) Find the value of

-sinf cosf|’
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15) Evaluate [2020 2023 1,
2023 2026 O
II Note:Answer any three questions. Question No. 20 is compulsory. 3% 3=9
3. %0
)
16) If 4 Y7 1) s skew - symmetric, find the value of x, y and z.
g -1 2z

17) If (k, 2), (2, 4) and (3, 2) are vertices of the triangle of area 4 square units then
determine the value of k.

18) Let 3, B, ¢ be unit vectors such that a.b =3.¢ =0 and the angle between p and

G i Prove that a= +7~(b x C)

e

¥
19) Find the direction ratioss and direction cccosines of the vector 3; = 4]‘ + 8k .
20) For any vector ¢ prove that r = (F . ?)? + (’r‘ : j)J + (F . f()l::.

IV Note: Answer all the questions. 4x5=20
21) a) If a, b, c are all positive, and are p™, g™ and ' terms.of a G.P, show that

gloga p 1

logb g 1/=0. T N (OR)

fogc r 1|

X+l 3 5]

b) Using Factor Theorem prove that | 2 “X+2 5 |=(x- 1)% (x+9)
y. 3 x+4.
22) a) WA, B, C are the factors of ag B, Cprespectively i = 1 to 3 in

1 b o N, C,
Al .. s s 2
1= Ci’-!, show that.[Az B2 Cz|=[A]" (OR)
5'33 L3 €3l Ay Bj Cj_
) , {,'1:.5""‘/.6'}1?' AT (01 E e £
s; !, \ "R ik 1M 11O )50 QL Fer 71
f AR H - . {/Cmﬁ;'ﬂfaf )
Prove i' K. [ = i x* -2y 7
% ’ b2 |
23) a) Provethat "The medians of a triangle are concurrent”, (OR)

b) Show that the points whose position vectors 4i - 3 + k , 21~ 43 + 5k
a right angled triangle,

, T=1 form

249) IfABCD is a guadmaateral and E and F are midpoint of AC and BD respectwely
then prove that 453 + AD + (= 4EF . (OR)

B) Show that prove vector 5i + 6 + 7k, 7} -8+ 9K, 3i + 20§ + 5k are coplanar.
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